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M.C.A. – I (Semester – I) (Commerce) Examination, 2016
C PROGRAMMING (New-CBCS)

Day and Date : Wednesday, 27-4-2016 Total Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

Instructions : 1) Q. 1 and Q. 7 are compulsory.
2) Attempt any 2 Q. from Q. 2, Q. 3 and Q. 4.
3) Solve any 1 Q. from Q. 5 and Q. 6.

1. A) State whether the statement is True or False : 4

1) A preprocessor is a program that processes the source code file before it
is given to a complier.

2) Void is an empty data type.

3) Jump statement transfer control conditionally.

4) Local variable are also called static variable.

B) Define the following terms : 10

1) Identifier

2) Compiler

3) Keyword

4) Algorithm

5) Constant.

2. Attempt the following : (7×2=14)

A) Explain local and Global variable.

B) Explain the various data types in C.

3. Attempt the following : (7×2=14)

A) What is the structure of a C Program ?

B) Write a program to accept a character and display its ASCII value.
P.T.O.

Seat
No.
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4. Attempt the following : (7×2=14)

A) Discuss the different storage classes used in C.

B) What is structure and union explain with example.

5. What is Array ? Explain the different types of Array. 14

Write down a program for addition of two matrixes.

6. What is function ? Discuss the different category of function and explain the
different parameter passing methods with example. 14

7. Write short note on (any 2) : 14

1) Pointer

2) Looping Statements

3) Types of Operators.

_______________
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M.C.A. (Commerce) (Part – I) (Semester – I) Examination, 2016
DATABASE MANAGEMENT SYSTEM (New CBCS)

Day and Date : Friday, 29-4-2016 Max. Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

Instructions : 1) Q. No.1 and Q. No. 7 are compulsory.
2) Attempt any two questions from Q.No. 2, 3 and 4.
3) Attempt any one from Q. No. 5 and 6.
4) Figures to the right indicate full marks.

1. A) Choose alternative and rewrite the sentences. 10

1) _________ data models provide concepts that describe details of how
data is stored in the computer.

a) Physical Level b) View Level

c) Logical Level d) All of these

2) Schema is same as an _________

a) Extension of Database b) Intension of Database

c) Sub Schema d) None of the above

3) Create, Alter, Drop are examples of ________

a) DDL b) DML c) VDL d) All of these

4) A _________ can be identified uniquely only by considering the primary
key of another entity.

a) Candidate Key b) Weak Entity

c) Strong Entity d) None of the above

5) Entity relationship model was introduced by _________ in 1976.

a) P.P. Chen b) Dr.E.F. Codd

c) Dr. Michael Hammer d) Both a and b

Seat
No.
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6) A _______ is a specific Boolean expression that must be TRUE  for the
trigger to fire.

a) Procedure b) Trigger c) Cursor d) Index

7) __________ is defined as the number of entities associated with the
relationship.

a) Cardinality b) Relational Algebra

c) Both a and c d) Degree of Relationship

8) The first generation of DBMS is represented by system __________

a) Hierarchical systems b) Relational model

c) Network model d) None of the above

9) In 1971, conference on data system and languages appointed by ________

a) Database Task Group

b) Database Work Group

c) Database Management Group

d) Database Administration Group

10) Which of the following is correct ?

a) Data + DBMS = Databases

b) Data + Databases = DBMS

c) Database + DBMS = Database System

d) None of the above

B) State true or false. 4

i) Both an SQL query as well as a PL/SQL code is interpreted in Oracle.

ii) Veiws are the Physical tables of data extracted from existing tables.

iii) All functions performed by constraints can not equally be performed by
triggers.

iv) DDL operations, once performed are not automatically committed and do
require any commit statement for confirmation.
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2. Write in short 14

a) Concept of 3-tier architecture of database.

b) Define Normalization. Write about different types of Normalization.

3. Write in short. 14

a) Explain in concept of ERD.

b) Elaborate concept of RAID.

4. Write in short. 14

a) Enumerate concept of relational algebra.

b) Explain about ACID properties in brief.

5. Explain the concept of Generalization and Specialization with examples. 14

6. What is Transaction define and explain ? Write about different states of transaction. 14

7. Explain concept of Crash Recovery and Back Up and concept of loss-less join. 14

__________________
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Seat
No.

M.C.A. (Commerce) (Part – I) (Semester – I) (Old) Examination, 2016
COMPUTER ORGANIZATION AND ARCHITECTURE

Day and Date : Monday, 25-4-2016 Total Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. No. 1 and 7 are compulsory.

2) Solve any two questions from Q. No. 2, 3  and 4.

3) Solve any one question from Q. No. 5 and 6.

1. A) Select correct alternative : 8

1) MIMD stands for___________

a) Multiple Instruction Multiple Data

b) Multiple Instruction Memory Data

c) Memory Instruction Multiple Data

d) Multiple Information Memory Data

2) The circuit used to store one bit of data is known as _____________

a) Encoder b) OR gate c) Flip Flop d) Decoder

3) The number of times the page appear in the cache memory is
called ___________

a) Hit b) Miss c) Hit Ratio d) All of these

4) After Reset the 80386  starts instruction fetch from the address ___________

a) FFFFF0 b) FFFFFFF

c) FFFFFFF0 d) All of these

5) The NAND gate output will be low if the two inputs are __________

a) 00 b) 01 c) 10 d) 11



SLR-K – 6 �������

6) Half adder consists of __________ and __________ gates.

a) EX-OR&AND b) EX-OR&OR

c) EX-OR&NOT d) None of these

7) The addressing mode used in the instruction Add R1, (1001)

a) Direct addressing b) Register addressing

c) Immediate addressing d) Indirect addressing

8) The memory in which following information is lost when power is__________

a) Virtual memory b) Dynamic RAM

c) Static RAM d) Associative memory

B) State True or False : 6

1) Parallel processing increase response time and throughput.

2) In MISD single data stream is fed into multiple processing units.

3) Clock speed and bandwidth not affect on performance of processor.

4) The Stack pointer is 8 bit register.

5) In Hardwired control unit it is easy to add new instructions.

6) Demultiplexer has many in puts and one outputs.

2. A) What is Demultiplexer ? Explain 1 : 8 DUX. 7

B) What is counter ? Explain 4-bit synchronous counter. 7

3. A) What is parallel processing ? Explain Flynn’s classification detail. 7

B) Explain DMA transfer modes. 7

4. A) Explain Half Adder and Full Adder. 7

B) What is shift register ? Explain serial in parallel out. 7

5. A) What are the different components of microprocessor. 7

B) Explain superscalar with pentium microprocessor. 7

6. What are the break through in microprocessor ? Explain 80486 microprocessor
in detail. 14

7. Write a short note on : 14

A) Encoder B) Logic gates C) Master Slave J-K flip flop.

–––––––––––––––––
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M.C.A. (Commerce) (Part – I) (Semester – I) (Old) Examination, 2016
C PROGRAMMING

Day and Date : Wednesday, 27-4-2016 Total Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. 1 and Q. 7 are compulsory.
2) Attempt any two questions from Q. 2 to Q. 4.
3) Attempt any one question from Q. 5 to Q. 6.
4) All questions carry equal marks.

1. A) Choose correct alternative. 10

1) Size of pointer in C language is ________ bytes.

A) 1 B) 4 C) 3 D) 2

2) String ends with __________ character.

A) & B) ? C) \0 D) #

3) In ________ parameter passing technique if we change formal parameters
actual parameters does not change.

A) call by value B) call by reference

C) call by address D) none of these

4) If two strings are same, then strcmp() function returns

A) 0 B) –1 C) 1 D) same

5) For binary files, a ________ must be appended to the mode string.

A) nothing B) “b” C) “binary” D) “01”

6) If there is any error while opening a file, fopen will return

A) Nothing B) EOF

C) NULL D) Depends on compiler

7) Which is correct with respect to size of the datatypes ?

A) char > int > float B) int > char > float

C) char < int < double D) double > char > int

Seat
No.
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8) Which of the datatypes have size that is variable ?

A) int B) struct C) float D) double

9) # include is called

A) Preprocessor directive B) Inclusion directive

C) File inclusion directive D) None of these

10) C preprocessor is conceptually the first step during compilation

A) true B) false

C) depends on the compiler D) depends on the standard

B) State whether statements are true or false. 4

1) Switch expression must be an integral type.

2) Keyword void is a datatype in C.

3) All static variables are automatically initialized to 1.

4) In C, index of first element in array is 1.

2. A) What is token ? Explain elements of token. 7

B) Write a program to find maximum of three numbers using conditional operator. 7

3. A) Write a program that demonstrate difference between while and do-while
statement. 7

B) To store 10 elements in consecutive memory locations, suggest suitable data
types and explain with example. 7

4. A) Write a program that invoke a function called find( ) to perform following
tasks. 7

i) Receive character array and single character.

ii) Return 1 if specified character found in the array otherwise return 0.

B) What is Recursion ? Explain with example. 7

5. A) Define a structure datatype called time_struct containing hour, minutes and
seconds. Develop a program that would assign values to individual members
and display the time in following form. 7
Hour : Minutes : seconds

B) Differentiate between structure and union. 7
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6. What is Pointer ? Explain following concepts with program. 14

I) Pointer to function

II) Pointer to array

III) Pointer to structure.

7. A) Write a program to write a file with the contents “Welcome to C programming”.
Read it and display its contents. 7

B) Explain following functions of Graphics in C 7

I) setlinestyle( )

II) setcolor( )

III) setfillstyle( )

IV) floodfill( )

V) circle( )

VI) rectangle( )

VII) outtextxy( ).

_______________



������� ��������	


���
�������������������������������������������������� ���� !�"#$%

&
'
(
���

)
*�
�)'��+�'�


�����������	�
���
�������������� �����������
���

�
�	�
�������������������� ���

��������	
���� �� ����	����
���
�

���
�����
���

�� �	����������
�������	����
	������	�������
�����

�� �	��������
���������	���
	������	����
�����

�� !" �#$�
 $	�%&�
%	�'#	��
����
 $,

�" �&	�	� ���
����(�)�*��
�+����
�

�" )��
���*	$��
���&
 ��
�+��� ," )��
���*	$��
-	��
�+���

%" )��
���*	$��
����
�+��� �" )��
���*��
���$
.	���
�+���

�" /����$
.��
���
���� ��%	����(��	���#%�#�
�+����	$��
�����

�" �
�
�
.	��# $
%��
����(������
��������,��	

," ���
�
.	��# $
%��
����(���������	��#�	��	$
�,
$
��

%" ���	�
���(�#�
(�����
.	

�" !$$�0����
�
����(�����

�" �&	��,,�	-
��
����1�2��������(��

�" �����1��	����
 #$��
���2���	�

," �����1�������
 #$��
�+�2���	�

%" �����1��	�����+	�	���2���	�

�" �����1��������+	�	���2���	�

�" !�������%�
������������$0����%�� $	�	�
���	�	%#�
����#%%	��(#$$���#%&��
������%�
���
���	��	�

�" !,���	� ," �	��
���	�

%" 3$��	� �" !$$��(��&	��	��
��	�

4" !�555555555�
����'#	����&����	��
	-	����0��(�������	��&�����	���,$	���

-
	0�

�" 2���� ," )��

%" 6�
� �" !$$��(��&	��	��
��	�

��'���

����

)��



��������	 ��� �������

�" 7&
%&��(��&	�(�$$�0
�+�
��������
��	+�
���%������
���8

�" /����#$$ ," 9��
�
-	 %" :�
'#	 �" 3&	%��; �	�
%��	<

�" ���	
+���	��
���&	���	�
��0&
%&��&	�555555555��(���	��	$��
���
���	(	�	�%	�

������&	���	$��
���

�" ���	
+���	� ," 9�
������	� %" *	(	�	�%	� �" 3&	%��%������
��

=" ��
++	����	��#  ���	��
�

�" �	$	�	 ," : ���	

%" >
	0� �" !$$��(��&	��	��
��	�

�" !++�	+��	�(#�%�
������	�(#�%�
�����&������	���555555555�����
� #�����

�	�#������
�+$	�-�$#	�

�" 3�$$	%�
����(�-�$#	� ," 2
�+$	�-�$#	

%" !++�	+��	�-�$#	 �" 1��&��"�����,"

��" 7&
%&��(��&	�(�$$�0
�+�%�	��	����-
��#�$��	$��
���(�������
�+��&	�'#	���8

�" �#�%�
�� ," >
	0

%" 9��%	�#�	 �" /��	��(��&	��	��
��	�

��" 7&
%&��(��&	�(�$$�0
�+����	���&	�������%�
��� 	����	���
���&	�����,��	�8

�" >
	0 ," 3���
� %" *�$$,�%� �" �$��&,�%�

��" �&	�$�+�
�����	'#	�%	��(�555555555���	%���
�+��$$��&	�# ���	��%�
-
�
	��
�
�&	�����,��	�

�" ?�+��	%���� ," *	%���� %" )���
	� �" *	��

1" �	(
�	��&	�(�$$�0
�+��	����


�" 3#����

�" >
	0

�� !" )� $�
��	��
����	$��
���&
 ��
�+����0
�&��#
��,$	�	��� $	� -

1" )� $�
��
��,�
	(�$�+�,��	���	%�-	��� -

�� !" )� $�
��3�� ��
����,	�0		��@�������/��� -

1" )� $�
��3#�����%��%	 ��
���	��
$�� -

�� !" )� $�
��6�
��3��%	 ��
���	��
$�� -

1" )� $�
��3#�����%��%	 ��0
�&��#
��,$	�	��� $	� -

4� )� $�
��)����3���<���#$	��
���	��
$�� $,



������� ��� ��������	

�� 7�
�	���'#	�
	��(���(�$$�0
�+�
 $,


" 3�	��	���'#	�������
� $����&	�$�������	�������$�����(�	� $��		��	���
�+
���	��&���A��������



" 3�	��	���'#	�������
� $����&	�	� $��		��$�������	������	 ����	����#�,	�

(���	� $��		��#�,	������




" �
� $����&	�	� $��		�$�������	��B�,�C���������������	��(�	� $��		��&
�	�
,	�0		���	,�#�����������=���������������=�


-" �
� $����&	�$�������	�����&
�	����	��(�	-	���	� $��		�0&��0���&
�	��
�
�����

-" �
� $����&	�$�������	�����B�,��
�$	��(��$$�	� $��		��0&���������&�-	�������+	��

-
" �
� $����&	�$�������	��B�,�������$����(����$$�	� $��		��0&��	�B�,�
����$	�
�	 �	�	����
-	�

-

" �
� $����&	�$�������	������	 ����	����#�,	���(��$$�	� $��		��
���	 ����	���
�������4��

�� 7�
�	��&�������	�����D� .��/�"�
 $,

�" /����$
.��
��

�" *�$	��(��1!

�" ��
++	���

EEEEEEEEEEEEEEEEEE



������� -1-  SLR-K – 9

P.T.O.

SLR-K – 9

Seat
No.

M.C.A. – I (Semester – I) (Commerce) Examination, 2016
DISCRETE MATHEMATICS (Old)

Day and Date : Monday, 2-5-2016 Total Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. 1 and Q. 7 are compulsory.
2) Attempt any two questions from Q. 2 to Q. 4.
3) Attempt any one question from Q. 5 and Q. 6.
4) Figures to the right indicate full marks.

1. Fill in the banks : 14

1) The pair of nodes that are connected by an edge are called ___________

2) Hasse diagram is used to represent ___________

3) If R is a relation on set A and if R is reflexive, symmetric and transitive then R
is called as ___________

4) The floor function F(7.4) = [7.4] is ___________

5) If a graph has 5 vertices and 7 edges, then the size of its adjacency matrix
is ___________

6) ~(p ∨  q) ≡  ___________

7) A graph with n vertices in which all vertices have (n – 1) degree is
called ___________

2. A) What is transitive closure ? If set A = {a, b, c, d} and R is the relation defined
on set A is R = ((a, b), (b, d), (a, c), (c, b), (d, a)) then find the transitive
closure of R by Warshall’s algorithm. 7

B) State and prove Handshaking theorem. 7

3. A) Determine whether the following compound proposition is tautology or
contradiction. Using truth table : ~(q → r) ∧  r ∧  (p→ q). 7

B) What is function ? Explain types of function. 7

4. A) Define Lattice with example. 7

B) Show that (e ∧ d) can be derived from the premises
a→ b, b→ ~c, c, a ∨  (e ∧ d). 7
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5. Explain isomorphic graphs. Determine whether the graphs shown below are
isomorphic or not. 14

6. What is group code ? Explain even parity check and odd parity check with example.
Also determine the group code eH : B2 →  B5, where m = 2 and n = 5. 14

1 1 1

1 0 1

1 0 0

0 1 0

0 0 1

7. Explain the terms (any 2) : 14

i) Complete graph

ii) Hasse diagram

iii) Tautology, contradiction and contingency.

_____________________
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M.C.A. – I (Commerce) (Semester – I) (Old) Examination, 2016
PRINCIPLES OF MANAGEMENT

Day and Date : Friday, 6-5-2016 Total Marks : 70

Time : 10.30 a.m. to 1.30 p.m.

Instructions :  1) Q. No. 1 and Q. No. 7 are compulsory.
2) Attempt any two questions from Q. No. 2, Q. No. 3 and

Q. No. 4.
3) Attempt any one question from Q. No. 5, Q. No. 6.
4) Figures to the right indicate full marks.

1. A) State true or false. 7

1) Management is always defined as dynamic, universal, ever-changing
subject.

2) In formal group, the behaviour that one should engage in are stipulated
by and directed towards organization goals.

3) Fayol attempted to develop scientific management.

4) Formal groups are formed by an organisation.

5) Leaders always focus on personal goals rather than group.

6) Every manager in an organisation gives direction to his subordinates as
a superior and receives direction as subordinate from his superior.

7) Henry Fayol’s contribution is classified into ten industrial and management
principles.

B) Match the pairs : 7
          Group A Group B
1) Autocratic leader a) Top level
2) Democratic leader b) Peter Drucker
3) Delegation of authority c) Technical skills
4) Labour d) Aggressive in action
5) IT Professionals e) Participative style

6) MBO f) Lower level

7) Board of the Directors g) Passing rights to the subordinates

Seat
No.
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2. Write short notes on (any two) : (2×7=14)

a) What are the different skills required for managers ?

b) Planning process.

c) Levels of management.

3. Write short notes on (any two) : (2×7=14)

a) Types of team.

b) Why do people join group ?

c) Explain MBO process.

4. Write short notes on (any two) : (2×7=14)

a) Decision making process.

b) Difference between formal and informal organization.

c) Controlling process.

5. Define staffing and explain in detail staffing process. 14

6. Explain types of group and difference between group and team. 14

7. Explain Henry Fayol’s various principles of management. 14

————————
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Seat
No.

M.C.A. (Commerce) (Part – I) (Semester – II) (Old) Examination, 2016
OPERATING SYSTEM CONCEPTS

Day and Date : Thursday, 28-4-2016 Total Marks : 70

Time : 10.30 a.m. to 1.30 p.m.

Instructions :1) Q. No. 1 and 7 are compulsory.

2) Solve any two questions from Q. No. 2, 3 and 4.

3) Solve any one question from Q. No. 5 and 6.

1. A) Fill in the blanks : 4

1) _____________ page replacement algorithm suffers from Belady’s anomaly.

1) LRU 2) MRU 3) FIFO 4) LIFO

2) The main reason to encrypt a file is to _____________

1) Reduce its size

2) Secure it for transmission

3) Prepare it for backup

4) Include it in the start-up sequence

3) Thrashing _____________

1) Always occurs on large computers

2) Can always be avoided by swapping

3) Can be caused by poor paging algorithm

4) None of these

4) A process said to be in _____________ state if it was waiting for an event

that will never occur.

1) Safe 2) Unsafe 3) Starvation 4) Deadlock
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B) Answer in 1-2 sentences : (5×2)

1) What are the different types of interrupts ?

2) What are the different types of I/O communication techniques ?

3) What is deadlock ?

4) What do you mean by page fault ?

5) What is Thrashing ?

2. Attempt the following (any 2) : 14

1) What is process ? Describe in detail structure and purpose of PCB.

2) Explain the need for synchronization.

3) Discuss the various protection mechanisms.

3. Attempt the following (any 2) : 14

1) Explain with example various disk scheduling algorithms.

2) What is deadlock ? Explain the necessary condition for deadlock.

3) Explain segmentation memory management scheme in detail.

4. Attempt the following (any 2) : 14

1) What is page fault ? Write down the steps for handling the page fault.

2) Explain Swapping in detail.

3) Difference between Distributed and Centralized Operating Systems.

5. Attempt the following : 14

Explain following scheduling algorithms with the help of following examples

along with their advantages and disadvantages (Arrival time = 0)

a) First Come First Served (FCFS)

b) Shortest Job First (SJF)
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c) Priority Scheduling.

d) Round Robin Scheduling (time quantum = 3)

Process Burst time Priority

P1 5 4

P2 12 1

P3 16 3

P4 18 5

P5 2 2

6. Calculate the average cylinder movements for the all disk scheduling algorithms.

Consider if disk head is initially at cylinder 60.

Consider a reference string 87, 170, 40, 150, 36, 72, 66, 15. 14

7. Write a short note on (any 2) : 14

1) Demand Paging

2) Compaction

3) C-Scan.

_____________
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No.

M.C.A. (Commerce) (Part – I) (Semester – II) (Old) Examination, 2016
MANAGEMENT INFORMATION SYSTEM AND ENTERPRISE

RESOURCE PLANNING

Day and Date : Saturday, 7-5-2016 Total Marks : 70
Time :10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. No. 1 and 7 are compulsory.
2) Solve any two questions from Q. No. 2, 3 and 4.
3) Solve any one question from Q. No. 5 and 6.

1. A) Select correct alternative : 8

1) The decision-making level of an organization that is most concerned with
optimizing organizational efficiency is the __________

A) Operational level B) Strategic level

C) Tactical level D) All of these

2) A report that contains information about unusual situations is ________

A) Scheduled report B) Exception report

C) Key indicator report D) All of these

3) ERP system limitation are

A) Manager can not generate custom report or queries without help from
programmer

B) ERP system provides current status only such as open orders

C) The data in the ERP application is not integrated

D) All of these

4) The decision-making environment of an executive level manager can be
characterized as

A) Structured B) Unstructured

C) SCM D) All of these



SLR-K – 20 -2- ��������

5) With a good ERP package the organization will have the capability of achieving
dramatic improvements in critical area such as __________

A) Cost B) Quality

C) Speed D) All of these

6) Which of the following is not true in the case of ERP system ?

A) They allow increased control

B) They open up access to information to those who need it

C) Information becomes available across the organization

D) They create more work and hence increase the IS workforce

7) What are the characteristics of information ?

A) Accuracy B) Relevant

C) Timeliness D) All of these

8) ___________ covers methods and technologies used by companies to
manage their relationship with clients.

A) Customer relationship management

B) Supply chain management

C) Product life cycle management

D) None of these

B) State True or False : 6

1) The difference between a business function and a business process is that
a process is that a process cuts across more than one business function
to get a task done.

2) A decision support system uses models to manipulate data.

3) The decision-making level of an organization that is most concerned with
long-term strategy is the executive level.

4) ERP is just to impress customer.

5) Information and data are not interchangeable terms.

6) Application such as diagnosis, design, prediction and interpretation are
expert system.
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2. A) What is MIS ? Explain characteristics and function of MIS. 7

B) What is Information ? Explain types of information. 7

3. A) What is EIS ? Explain integration of DSS and EIS. 7

B) What is ERP ? Explain sales and distribution module of ERP. 7

4. A) Comparison of conventional and expert systems. 7

B) Explain ERP implementation life cycle. 7

5. A) Post Evaluation and Maintenance of ERP. 7

B) What are needs of security for information system ? 7

6. A) Define DSS ? Explain characteristics and capabilities of DSS. 7

B) Explain information system for financial system. 7

7. Write a short note on (any 2) : 14

A) Supply Chain Management

B) SAP

C) Quality of information.

_____________________
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M.C.A. – II (Semester – III) (Commerce) Examination, 2016
DATA STRUCTURE USING C++

Day and Date : Monday, 25-4-2016 Total Marks : 70
Time : 2.30 p.m. to 5.30 p.m.

Instructions : 1) Q. 1 and Q. 7 are compulsory.
2) Attempt any two questions from Q. 2 to Q. 4.
3) Attempt any one question from Q. 5 to Q. 6.
4) Figures to the right indicate full marks.

1. Fill in the blanks : 14

1) If stack is empty then it is called as _________

2) For space utilization circular queue is better than linear queue ________

(true/false)

3) In ascending priority queue ________ element is deleted first.

4) ___________ tree is called as height balanced tree.

5) The DFS uses _________ data structure to hold the nodes.

6) ___________ linked list provides two way traversal.

7) A binary tree can have maximum ____________ children.

2. A) Write a note on AVL tree with example. 7

B) Differentiate DFS and BFS with examples. 7

3. A) Write a C++ program to reverse the string using stack. 7

B) Differentiate between Array and Linked list. 7

P.T.O.
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4. A) Convert Infix expression to Postfix form using stack.

(b* (a + c – d) / e * f / g ^ ( a – d)). 7

B) Write a C++ program to implement queue using array. 7

5. A) Write a C++ function to add the node at beginning of doubly linked list. 7

B) Explain DEQueue with example. 7

6. Write a C++ program to implement Circular Single linked list with the insert,
delete and update operations. 14

7. Write a program in C++ to create binary search tree and display tree elements
by in-order, pre-order and post-order traversals. 14

_______________
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Seat
No.

M.C.A (Commerce) (Part – II) (Semester – III) Examination, 2016
DATA COMMUNICATION AND NETWORK

Day and Date : Friday, 29-4-2016 Total Marks : 70
Time : 2.30 p.m. to 5.30 p.m.

Instructions  : 1) Q. No. 1 and 7 are compulsory.
2) Solve any two questions from Q. No. 2, 3 and 4.
3) Solve any one question from Q. No. 5 and 6.

1. A) Choose the correct alternative : 7
1) Port address is also called as ___________

a) Physical address b) Logical address
c) Specific address d) None of these

2) Router works at ___________

a) Physical layer b) Data-link layer
c) Network layer d) None of these

3) Firewall should be situated ___________

a) Inside a corporate network
b) Outside a corporate network
c) Between a corporate network and outside world

d) None of these
4) SMTP is a protocol at ___________ layer.

a) Network b) Application

c) Transport d) None of these
5) Identify the class of IP address 192.68.2.22.

a) Class A b) Class B c) Class C d) Class D

6) RARP, ARP and BOOTP protocol used in ___________ layer.
a) Physical layer b) Data-link layer
c) Network layer d) None of these

7) X.25 is older ___________ network based on OSI rather than TCP/IP
architecture.

a) Packet switched b) Circuit switched

c) Message switched d) All of these
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B)  State true or false : 7

1) Electromagnetic wires (radio and infrared) are used to transmit and receive

data over air.

2) Every host and router on IP address.

3) In asymmetric key cryptography 1 key is required between

communicating parties.

4) UDP allows computers to send data without needing to establish a virtual

connection.

5) Detection of transmission error is the function of physical layer.

6) Session layer is responsible for dialog control and synchronization.

7) X.25 protocol suite map to lowest layers of OSI model.

2.   A) Explain OSI reference model in details. 7

B) Explain 802.11 wireless LAN with neat labelled diagram. 7

3.   A) What is ISDN ? Explain ISDN System Architecture. 7

B) What is routing ? Explain shortest path routing. 7

4.   A) Differentiate IPV4 and IPV6. 7

B) What is DNS ? Explain name resolution in detail. 7

5.   A) Why firewall is needed ? Explain packet filters in detail. 7

B) What is HTTP ? Explain the types and methods of HTTP connection. 7

6.   A) What is network security ? Explain public key algorithm. 7

B) What is IP address ? Explain IP address classes. 7

7. Write short notes on (any two) : 14

A) DHCP

B) X.25 network

C) ATM network.
_____________________
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M.C.A. (Commerce) (Semester – III) Examination, 2016
SOFTWARE PROJECT MANAGEMENT

Day and Date : Monday, 2-5-2016 Total Marks : 70

Time : 2.30 p.m. to 5.30 p.m.

Instructions :1) Q. 1 and Q. 7 are compulsory.
2) Attempt any two questions from Q. 2 to Q. 4.
3) Attempt any one question from Q. 5 to Q. 6.
4) Figures to the right indicate full marks.

1. Select the correct alternative :

1) Which of the following is not generally considered a player in the software

process ?

A) Customers B) End-users

C) Project Managers D) Sales peoples

2) The best project team organizational model to use when tackling extremely

complex problems is the

A) Closed paradigm B) Open paradigm

C) Random paradigm D) Synchronous paradigm

3) One of the best ways to avoid frustration during the software development

process is to

A) give team members more control over process and technical decisions

B) give team members less control over process and technical decisions

C) hide bad news from the project team members until things improve

D) reward programmers based on their productivity

P.T.O.
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4) The W5HH principle do not contains which of the following question ?

A) Why is the system being developed ?

B) What will be done by whom ?

C) Where are they organizationally located ?

D) How much of each resource is required ?

5) Changes made to an information system to add the desired but not necessarily

the required features is called

A) Preventive maintenance B) Adaptive maintenance

C) Corrective maintenance D) Perfective maintenance

6) The productivity of a project is measured in terms of __________ per person-

month.

A) Testing B) Debugging

C) Codes Produced D) Function Points

7) FP-based estimation techniques require problem decomposition based on

A) Information domain values B) Project schedule

C) Software functions D) Process activities

8) A Gantt chart is useful in determining _____________

A) The level of effort for a task

B) When a task starts and stops

C) How tasks are related to each other

D) Who is assigned to do a task

9) WBS stands for ____________

A) Work Breakdown System

B) Work By Standard

C) Work Breakdown Structure

D) Work By System
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10) Which software project sizing approaches develop estimates of the information

domain characteristics ?

A) Function point sizing

B) Change sizing

C) Standard component sizing

D) Fuzzy logic sizing

11) Which of the following is not considered as a risk in project management ?

A) Specification delays B) Product competition

C) Testing D) Staff turnover

12) Which of the following is not a Software Configuration Management Activity ?

A) Configuration item identification

B) Risk management

C) Release management

D) Branch management

13) Which of the following are parameters involved in computing the total cost of

a software development project ?

A) Hardware and software costs

B) Effort costs

C) Travel and training costs

D) All of the mentioned

14) Which is a software configuration management concept that helps us to control

change without seriously impeding justifiable change ?

A) Baselines B) Source code

C) Data model D) None of the mentioned

2. A) What is Team ? Explain three types of team structure. 7

B) Explain different peoples involved in S/w Project Management with roles and

responsibilities. 7
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3. A) What is Software Project Management ? Explain different types of Software

Maintenance. 7

B) What is Group organization ? Explain factors in group communications. 7

4. A) What is Risk Management ? Explain different Categories of Risk. 7

B) Discuss different processes involved in Project Organization. 7

5. A) Explain 4 P’s involved in Software Project Management. 7

B) Discuss different factors that influence Software Cost. 7

6. Explain different layers of Software Configuration Management Process. 14

7. Write Short note on any two : (7× 2 = 14)

A) Intermediate COCOMO Model

B) CPM & PERT

C) Ms-Project

D) W5HH Principle.

_______________
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M.C.A. (Commerce) (Part – II) (Semester – IV) Examination, 2016
ADVANCED JAVA PROGRAMMING

Day and Date : Tuesday, 26-4-2016 Total Marks : 70
Time :  2.30 p.m. to 5.30 p.m.

Instructions : 1) Q. No. 1 and 7 are compulsory.
2) Solve any two questions from Q. No. 2, 3 and 4.
3) Solve any one question from Q. No. 5 and 6.

1. A) Fill in the blanks with appropriate options : 7

1) HttpSession session=request.geSession(“*****”);

What should be passed instead of ***** to refer existing session object in
servlet.

a) new b) true

c) false d) nothing

2) <%=   %> element in JSP is used to display data on browser, called as
___________

a) comment b) expression

c) declaration d) scriplate

3) _____________ tag in web.xml is used to pass parameters to particular
application.

a) <config-param> b) <application-param>

c) <init-param> d) <context-param>

4) ___________ method in RMI is used to bind remote objects which has
been bound in rmi registry.

a) Naming.bind() b) Naming.find()

c) Naming.lookup() d) None of these

5) A unique 2 byte number which is used to identify application running on
computer is called as ___________

a) URL Number b) IP Address

c) Port Number d) Connection Number
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6) SET protocol is used to secure ___________ transactions.
a) ATM b) Bank
c) Credit Card d) None of these

7) A Servlet class directly or indirectly implements __________ interface.
a) Servlet b) HttpServlet
c) GenericServlet d) DemoServlet

B) Simplify the true and false from following : 7
1) taglib directive is used to give information about web.xml to jsp container.
2) <jsp:include> includes any resource in executing page at runtime.
3) HTTP protocol is stateless protocol means it does not save state of user.
4) In Java Beans methods may be public or private.
5) URL represents the address that is specified to access a resource as

internet.
6) “<%!%>” JSP page element is called as declaration used to print data on

browser.
7) <C:OUT> tag does same thing as JSP expression element does.

2. A) Explain JSP life cycle in detail. 7

B) Write and explain the steps to create RMI application with example. 7

3. A) What is meant by Servet ? Why it is used ? Explain difference between
servlet and CGI. 7

B) What is RequestDispatcher ? Explain with example. 7

4. A) What is meant by E-Check ? Explain different types of E-Check. 7

B) What is meant by IP Address ? Write a Java program to display IP Address. 7

5. A) Explain different JSP Elements in detail. 7

B) Write RMI application programs to accept a number from user and calculate
square of given number on remote location display at client side. 7

6. A) Explain the concept of HTTP Request and HTTP Response in detail. 7

B) Write programs for communication of two Java programs running on two
different computes. 7

7. Write a note on following :

A) Java Beans 5

B) EJB 5

C) JSP Actions. 4
_____________________
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M.C.A. – II (Semester – IV) (Commerce) Examination, 2016
ADVANCED DEVELOPMENT TECHNOLOGY

Day and Date : Thursday, 28-4-2016 Total Marks : 70

Time : 2.30 p.m. to 5.30 p.m.

Instructions :  1) Q. No. 1 and  7 are compulsory.

2) Solve any two questions from Q. No. 2, 3 and 4. Solve any
one question from Q. No. 5 and 6.

3) Figures to the right indicate marks to a question or sub
question.

1. Choose the correct alternative from the following. 14

i) Which of the following jobs are not performed by Garbage Collector ?

1) Freeing memory on the stack

2) Avoiding memory leaks

3) Freeing memory occupied by unreferenced objects

4) Closing unclosed database collections

5) Closing unclosed files.

a) 1, 2, 3 b) 3, 5 c) 1, 4, 5 d) 4, 5

ii) Which of the following assemblies can be stored in Global Assembly Cache ?

a) Private Assemblies b) Friend Assemblies

c) Shared Assemblies d) Public Assemblies

iii) __________ control is used for add the control on the form at the run time.

a) Adrotator b) Placeholder

c) Imagemap d) Login

iv) Which of the following is the necessary condition for implementing delegates ?

a) Class declaration b) Inheritance

c) Run-time polymorphism d) Exceptions

Seat
No.
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v) Master page having the _________ extension.

a) .aspx b) .master c) .cs d) .vb

vi) How many web.config files that can be there an ASP.NET application ?

a) only one b) only two

c) upto ten d) none of these

vii) The page class file is generated when

a) Every time a page is accessed

b) Whenever the assembly is recompiled and deployed

c) Whenever the configuration settings are changed

d) None of the above

viii) Which of the following denote web control associated with table control function
of ASP.NET ?

a) Data list b) List box c) Table row d) All above

ix) __________ define the basic data type of variable in .Net framework.

a) CTS b) CLS c) CLR d) GCA

x) Which of the following is an 4 byte integer ?

a) Char b) Long c) Int d) Byte

xi) Dataset supports which type of architecture ?

a) Connect oriented architecture b) Disconnected architecture

c) Both d) None

xii) Which of the following property of DataReader class is used to check whether
DataReader object contains records or not ?

a) Items b) NotNull c) Count d) HasRows

xiii) A derived class can stop virtual inheritance by declaring an override as

a) inherits b) extends c) inheritable d) sealed

xiv) Which of the following attribute of page directive is used to embed content
page file in master page file ?

a) CodeFile b) Inherits

c) MasterPageFile d) Title



2. Write short note on. (7×2)

A) TextReader and TextWriter with example.

B) Properties and delegates with example.

3. Answer the following. (7×2)

A) Explain all validation server controls with example.

B) Explain Page Life Cycle in ASP.Net.

4. Explain all Object Oriented Concepts in C# with proper example. 14

5. Create windows application which will save, update, delete the railway reservation
information with fields (passenger_id, passenger_name, date_of_ journey, source,
destination, fare). Application must have proper validation. (Design GUI, Database
and write code for Save, Update and Delete). 14

6. A) Write a program for constructor overloading. 7

B) Write a program for implementing an event. 7

7. Write short notes on following (any two) : 14

1) Web services

2) .Net Framework

3) Cross-page posting.

————————
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Seat
No.

M.C.A. (Part – II) (Commerce) (Semester – IV) Examination, 2016
DESIGN AND ANALYSIS OF ALGORITHM

Day and Date : Tuesday, 3-5-2016 Total Marks : 70
Time : 2.30 p.m. to 5.30 p.m.

Instructions : 1) Q. 1 and Q. 7 are compulsory.

2) Solve any 2 questions from Q. 2 to Q. 4.

3) Solve any one question from Q. 5 and Q. 6.

4) Figures to the right indicate full marks.

1. State True or False : 14

a) A priori estimates refer as Performance Measurement F.

b) Measurement of algorithm is concerned with the running time and the memory

space needed to execute the program.

c) The time complexity of an algorithm is the amount of computer time it needs

to start the process.

d) Pivot from which all the left side elements are smaller and all the right side

elements are greater than Pivot element.

e) A posteriori testing refers as Performance Measurement.

f) In multistage graph, edge may connect nodes from same vertex set.

g) Dynamic programming can be used when solution to a problem can be viewed

as result of sequence of decisions.

h) Time complexity can be calculated by considering data and its size.

i) Algorithm ‘A’ is said to be dynamic recursive, if it calls same algorithm i.e.

which in turn calls ‘A’.
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j) Omega specifically describes the worst-case scenario and can be used to
describe the maximum execution time required or the space used by an
algorithm.

k) Performance evaluation can be loosely divided into two major phases, a
priori estimates and a posteriori testing.

l) In time complexity count method, step count is not incremented by one for
Return statement.

m) Theta specifically describes the average-case scenario or asymptotic tight
bounds required for time and space used by an algorithm.

n) Any subset that satisfies the problem constraints is called as a feasible
solution.

2. A) Differentiate between Divide and Conquer method and Greedy method of
problem solving. 7

B) Explain algorithm characteristics and algorithm specifications. 7

3. A) Write a note on space complexity. Write algorithm and calculate space
complexity for the problem to calculate sum of array element. 7

B) List out different asymptotic notation with their key characteristics and explain
omega notation in detail. 7

4. A) Explain deletion operations on heap with suitable example. 7

B) Write note on Optimal merge pattern and find out optimal merge pattern and
merge cost for the files having record 9, 7, 12, 14, 15, 3, 5, 17 using greedy
method. 7

5. A) Explain bubble sort. Write algorithm and sort array {5, 9, 3, 11, 7, 6} using
bubble sort method. 7

B) Write note on Branch and bond algorithm. 7
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6. What is multistage graph ? Write algorithm and display minimum cost path for
the following 5 stage graph using forward approach. 14

7. Solve any two from the following :

A) Write algorithm for quick sort using divide and conquer method. Sort the
list {65, 70, 75, 80, 85, 60, 55, 50, 45}. 7

B) Describe the terms heap, max heap and min leap. 7

C) Explain greedy method of algorithm and find out best optimal assignment on a
machine to finish all 7 jobs. 7

Task A B C D E F G

Start 0 3 4 9 7 1 6

Finish 2 7 7 11 10 5 8

_______________
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M.C.A. – II (Commerce) (Semester – IV) Examination, 2016
OPTIMIZATION TECHNIQUES

Day and Date : Saturday, 7-5-2016 Max. Marks : 70
Time : 2.30 p.m. to 5.30 p.m.

Instructions : 1) Q. No. 1 and 7 are compulsory.
2) Solve any two questions from Q. No. 2, 3, and 4.
3) Solve any one question from Q. No. 5 and 6.

1. A) Choose the correct alternative : 7
1) In the transportation problem number of allocation less than _______

indicates degeneracy.

a) m + n + 1 b) n – m + 1 c) m + n – 1 d) none of these
2) In queuing theory probability of no customers in the system is denoted by

a) Po b) Ps c) Pw d) P(n > k)
3) Constraints in an LP model represents

a) Limitations b) Requirement

c) Conditions d) All of the above

4) Expected length of non empty queue is given by

a) L
q
 = 2λ /μ (μ – λ ) b) L = μ /(μ – λ )

c) L
q 
= Ls – (λ /μ ) d) L = λ /(μ – λ )

5) Generally CPM technique deals with the activities of

a) repetitive nature b) non-repetitive nature

c) deterministic nature d) none of these
6) While solving an assignment problem, an activity is assigned to a resource

through a square with zero opportunity cost because the objective is to

a) minimize the total cost of assignment

b) reduce the cost of assignment to zero

c) reduce the cost of that particular assignment to zero

d) all of the above
7) For maximization problem in big-M method the objective function

coefficients for an artificial variable is

a) + M b) – M c) Zero d) – 1
P.T.O.
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No.
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B) State true or false : 7
1) A game is said to be fair if both upper and lower values of the game are

same and zero.
2) In the north west corner method, the cost  of transportation on any route of

transportation is taken into account.
3) If an activity has zero slack then it indicates that it is dummy activity.
4) In crashing the project duration of non-critical activities is reduced.
5) In exponential service-unlimited queue of single server model average

arrival rate of customers is greater than average service rate.
6) The amount of time that is expected to complete the activity is called most

likely time.
7) In a pure strategy game, each player always plays just one strategy.

2. A) Customer arrive at a box office window being manned by a single individual
according to a Poisson input process with a mean rate of 30 per hour. The
time required to serve a customer has an exponential distribution with a mean
of 90 seconds. Find the average waiting time of a customer. Also determine the
average number of customers in the system and the average queue length. 7

B) The transportation costs per unit from different factories to different centers
are given below ; 7

Factories
Distribution Centers

Supply
A B C D

P 3 2 7 6 5000

Q 7 5 2 3 6000

R 2 5 4 5 2500

Requirement 6000 4000 2000 1500 13500

Find the Initial Basic Feasible Solution for above transportation problem by
using VAM.

3. Use the two-phase method to solve following problem. 14
Max Z = 3x1 – x2
Subject to the constraints

i) 2x1 + x2 > 2

ii) x1 + 3x2 < 2

and x1, x2 > 0.
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4. A firm makes two products X and Y, and has a total maximum capacity of
production of both products together is 9 tons per day. The firm has permanent
contract of atleast 2 tons of X and atleast 3 tons of Y per day. Each ton of
X  requires 20 machines hours of production time and each ton of Y requires
50 machine hours of production time. The daily 360 machine hours are available.
The profit made is Rs. 80 per ton of X and Rs. 120 per ton of Y. How much tons
of X and Y should be produced so that firm can earn maximum profit ?
Solve the problem by graphical method. 14

5. A) Solve the following game by using maximin (minimax) principle, whose payoff
matrix are given below : Include in your answer :

i) Strategy selection for each player

ii) The value of the game to each player. 7

Player A

Player B

B
1

B
2

B
3

B
4

A
1

1 7 3 4

A
2

5 6 4 5

A
3

7 2 0 3

B) Four new machines M1, M2, M3 and M4 are to be installed in a machine
shop. There are five vacant places A, B, C, D and E available. Because of
limited space, machine M2 cannot be placed at C and M3 cannot be placed
at A. Cij the assignment cost of machine i to place j in rupees is shown below : 7

A B C D E

M
1

4 6 10 5 6

M
2

7 4 − 5 4

M
3

− 6 9 6 2

M
4

9 3 7 2 3

Find the optimal assignment schedule.

6. A) Explain the following terms (any two) : 7

a) Queue Discipline

b) Critical path

c) Total float



B) Following table gives the information of activity and its duration. 7

Activity
Predecessor

Activity
Time (days)

A − 5

B A 7

C B 2

D B 3

E C 1

F D 2

G C 1

H E, F 3

I G, H 10

a) Draw the network diagram of activities involved in the project and indicate
the critical path.

b) Find the total float and free float for each activity.

7. The table below provides cost and time estimates of seven activities of a project. 14

Activity
(i - j)

Time estimates
Direct cost
estimates

Normal Crash Normal Crash

1 − 2 2 1 10 15

1 − 3 8 5 15 21

2 − 4 4 3 20 24

3 − 4 1 1 7 7

3 − 5 2 1 8 15

4 − 6 5 3 10 16

5 − 6 6 2 12 36

i) Draw the project network corresponding to normal time.

ii) Determine the critical path and the normal duration and normal cost of the
project.

iii) Crash the activities so that the project completion time reduces to 9 weeks,
with minimum additional cost.

_______________
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Seat
No.

M.C.A. (Commerce) (Part – III) (Semester – V) (Old) Examination, 2016
SOFTWARE IT PROJECT MANAGEMENT

Day and Date : Wednesday, 27-4-2016 Total Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. No. 1 and 7 are compulsory.
2) Solve any two questions from Q. No. 2, 3 and 4.
3) Solve any one question from Q. No. 5 and 6.

1. Fill in the blanks : 14

1) If a Direct approach to software project sizing is taken, size can be
measured in

a) LOC b) FP

c) LOC and FP d) None of the mentioned

2) Which software project sizing approaches develop estimates of the information
domain characteristics ?

a) Function point sizing b) Change sizing

c) Standard component sizing d) Fuzzy logic sizing

3) How many forms exists of Barry Boehm’s COCOMO Model ?

a) Two b) Three c) Four d) No form exists

4) The project planner must reconcile the estimates based on decomposition
techniques to produce a single estimate of effort.

a) True b) False

5) Which of the following is not considered as a risk in project management ?

a) Specification delays b) Product competition

c) Testing d) Staff turnover

6) Which of the following is not a Software Configuration Management Activity ?

a) Configuration item identification b) Risk management

c) Release management d) Branch management



7) The COCOMO model takes  into account different approaches to software
development, reuse, etc.

a) True b) False

8) Which of the following are parameters involved in computing the total cost of
a software development project ?

a) Hardware and software costs b) Effort costs

c) Travel and training costs d) All of the mentioned

9) Quality Management software engineering is also known as

a) SQA b) SQM c) SQI d) SQA and SQM

10) Inspections and testing are what kinds of Quality Costs ?

a) Prevention b) Internal Failure

c) External Failure d) Appraisal

11) What is Six Sigma ?

a) It is the most widely used strategy for statistical quality assurance

b) The “Six Sigma” refers to six standard deviations

c) It is the most widely used strategy for statistical quality assurance AND
The “Six Sigma” refers to six standard deviations

d) A Formal Technical Review (FTR) guideline for quality walkthrough or
inspection

12) Which of the following is not a core step of Six Sigma ?

a) Define b) Control c) Measure d) Analyse

13) Which is a software configuration management concept that helps us to control
change without seriously impeding justifiable change ?

a) Baselines b) Source code

c) Data model d) None of the mentioned

14) Which of the following option is not tracked by configuration management
tools ?

a) Tracking of change proposals

b) Storing versions of system components

c) Tracking the releases of system versions to customers

d) None of the mentioned
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2. Attempt the following : 14

A) Explain Delphi Cost Estimation.

B) Explain in details 4 p’s of project.

3. Attempt any two of the following : 14

A) Why would a software development team want to make use of an independent
software quality assurance group ?

B) What is CMM ? Explain the different level of CMM.

C) Explain ISO 9000 principles.

4. Attempt the following : 14

A) Define Quality Plan and explain in detail steps in quality plan.

B) Explain users role in software construction and acceptance.

5. Explain in detail SCM process. 14

6. Explain PERT and Gantt chart in detail. 14

7. Write short note on (any 2) : 14

1) Characteristics of performance management

2) Reel’s common sense approach

3) Function Point Analysis.

_______________
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M.C.A. (Commerce) (Part – III) (Semester – V) (Old) Examination, 2016
EMERGING TRENDS IN INFORMATION TECHNOLOGY

Day and Date : Friday, 29-4-2016 Max. Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q.No. 1 and 7 are compulsory.
2) Attempt two from Q.2 to Q.4.
3) Attempt any one from Q.5 to Q.6.
4) All questions carry equal marks.

1. Fill in the blanks/True-False.

A) Fill in the blanks. 7

1) NeGP stands for __________

2) _________ is also known as dactyloscopy.

3) Rule based is the category of _________

4) The inventor of Fuzzy Logic is _________

5) In the embedded system, RTOS stands for _________

6) Spam filtering is an example of ________

7) _________ systems is based on face prints.

B) State True or False. 7

1) Actuator is not a part of automobile embedded system.

2) Linguistic variables are used in Fuzzy Logic applications.

3) Banking using Automated Teller Machine is called as E-banking.

4) The intentional degradation of GPS signals to deny full access to
unauthorized users is called selective checking.

5) The human retina is a thin tissue composed of neural cells that is located
in the posterior portion of the eye.

6) The artificial Neural Network can explain result.

7) A digital signature is scanned signature.

Seat
No.
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2. Attempt the following. 14

1) Explain artificial neuron in detail.

2) What is embedded system ? Explain components of embedded system.

3. Attempt the following. 14

1) Explain fuzzy logic system components.

2) Explain Machine learning in detail.

4. Attempt the following. 14

1) Explain the components of an Expert System with advantages and limitations.

2) Explain RFID in detail.

5. Attempt the following. 14

1) What is E-governance ? Explain with example.

2) What is Natural Language Processing ? Explain language models in detail.

6. Attempt the following. 14

1) Explain Retina scanning in detail.

2) What is E-Banking ? Explain with applications of E-Banking.

7. What is GIS ? Explain development of GIS. 14

_______________
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Seat
No.

M.C.A. (Commerce) (Part – III) (Semester – V) (Old) Examination, 2016

IT Elective : CYBER LAW AND IT SECURITY

Day and Date : Wednesday, 11-5-2016 Total Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. 1 and Q. 7 are compulsory.
2) Attempt any two questions from Q. 2 to Q. 4.
3) Attempt any one question from Q. 5 and Q. 6.
4) Figures to the right indicate full marks.

1. A) Select the correct alternative : 6

1) All of the following are examples of intellectual property protections Except

a) Copyrights b) Patents c) Contracts d) Trademarks

2) ___________ involves activities in which computers and other technological
devices are used for illicit purposes ?

a) Cyber crime b) Techno-crime

c) Violent crime d) White collar crime

3) Which of the following is an example of a public order cybercrime ?

a) Cyber stalking b) Cyber luring

c) Internet Gambling d) Phishing

4) Which of the following is independent malicious program that need not any
host program ?

a) Trap doors b) Trojan horse c) Virus d) Worm

5) Which of the following malicious program do not replicate automatically ?

a) Trojan Horse b) Virus c) Worm d) Zombie

6) Which of the following describes any crime perpetrated through the use of IT ?

a) Software piracy b) Malware

c) Transnational organized crime d) Computer crime
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B) State True or False : 8

1) Courts have ruled that cookies violate privacy rights.

2) Patent protection is available not only for products, but also for the
processes used to produce products.

3) The payload is the part of the virus through which the virus is spread.

4) Cybercrime is basically criminal activity done by using computers and the
internet.

5) The act of stalking an individual through a group or electronic means is
called cyber stalking.

6) Deliberate and repeated hostile behavior towards another individual is known
as  harassment.

7) Symbols used by businesses to identify their products can be protected
as trademarks.

8) The payload is the part of the virus through which the virus is spread.

2. A) Explain IT Act 2000 in brief. 7

B) Explain RSA Algorithm. 7

3. A) What do you mean by digital signature certification ? Explain generation,
suspension and revocation of digital signature certificate. 7

B) List out different cyber crimes and explain any two in details. 7

4. A) Explain need and powers of certifying authority of information security auditor.    7

B) Explain different threats to information and security measures. 7

5. What is cryptography ? Explain different cryptographic techniques. 14

6. Explain Domain Name Dispute concept in detail. 14

7. Write short note on any 2 : 14

A) E-Governance

B) Framing and Spamming.

C) Tampering with computer source documents.

–––––––––––––––––
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M.C.A. – III (Semester – V) (Commerce) (Old) Examination, 2016
IT-Elective : PROGRAMMING LANGUAGE PARADIGMS

Day and Date : Wednesday, 11-5-2016 Max. Marks : 70

Time : 10.30 a.m. to 1.30 p.m.

Instructions:  1) Q. 1 and Q. 7 are compulsory.

2) Solve any two questions from Q. 2, 3 & 4.

3) Solve any one question from Q. 5 & 6.

1. A) Choose the correct alternative : 10

1) The abbreviation CISC stands for _____________
a) Current Instruction Set Computers
b) Complex Instruction Set Computers
c) Complex Instruction Sequence Computers
d) Current Instruction Sequence Computers

2) The program address register is also called as __________
a) Instruction counter b) Program counter
c) Location counter d) None of the above

3) A common alternative to the strict hardware realization of a computer is
the _______________ computer.
a) Firmware b) Hardware
c) Middleware d) None of the above

4) _____________ is commonly thought of as languages that are compiled.
a) LISP b) ML c) Postscript d) C.

5) ____________ is often implemented by use of a software interpreter.
a) C b) C++ c) FORTRAN d) Smalltalk

6) The virtual machine that a programmer uses to create an application is in
fact formed from a hierarchy of ____________ computers.
a) Virtual b) Servers
c) Workstations d) None of the above

Seat
No.
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7) ______________ is created each time the subprogram is called and is
destroyed when the subprogram returns.
a) Subprogram definition b) Activation function
c) Activation Record d) None of the above

8) CIP Stands for ______________
a) Current Information Pointer
b) Current Instruction Pointer
c) Current Intermediate Pointer
d) None of the above

9) CEP Stands for ______________
a) Current Existing Pointer
b) Current Enumeration Pointer
c) Current Enum Pointer
d) Current Environment Pointer

10) The ______________ feature of a programming language are those parts
concerned with the accessibility of data at different points during program
execution.
a) Implicit sequence control b) Explicit Sequence Control
c) Sequence Control d) Data Control

B) State True or False : 4

a) Many bindings are performed during program execution.

b) The primary purpose of syntax is to provide a notation for communication
between the programmer and the programming language processor.

c) The semantics of a programming language is the meaning given to the
various syntactic Constructs.

d) The basic sequence control mechanism in expressions is functional
composition.

2. A) Define datatype. Explain in detail Composite datatypes in detail. 7

B) Define programming language. Explain in detail attributes of a good
programming language. 7

3. A) Explain in detail Programming environment. 7

B) Explain in detail programmer and system control storage. 7



4. A) Explain in detail referencing environment with suitable example in C language. 7

B) Define sequence control. Explain the implicit and explicit sequence control
with example. 7

5. Define language summaries. Explain in detail language summaries of Java. 14

6. A) Define storage management ? Explain in detail elements requiring storage. 7

B) Define translators. Explain in detail types of translators. 7

7. A) Define Data object. Explain the properties of types and object. 7

B) Define lexical analysis. Explain in detail analysis of source program. 7

—————————
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Seat
No.

M.C.A. (Commerce) (Part – III) (Semester – V) (Old) Examination, 2016
IT Elective : MOBILE WIRELESS COMPUTING

Day and Date : Wednesday, 11-5-2016 Total Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. No. 1 and 7 are compulsory.
2) Solve any two questions from Q. 2, 3 and 4. Solve any one

question from Q. 5 and 6.
3) Figures to the right indicate marks to a question or sub

question.

1. Choose correct alternative : 14

1) A cellular network or mobile network is a radio network distributed over
land areas called cells, each served by at least one fixed-location
known as ____________
a) transceiver b) cell site

c) base station d) all of above

2) The _________ network to connect subscribers to the wider telephony network.

a) public switched telephone

b) packet switched
c) core circuit switched

d) none of above

3) _____________ is the process of changing the channel (frequency, time slot,
spreading code, or combination of them) associated with the current connection
while a call is in progress.

a) Roaming b) Switching

c) Handoff d) Transmission

4) The Basic Service Set (BSS) has an identification (ID) called the BSSID,
which is the ____________ of the access point servicing the BSS.
a) IP address b) MAC address

c) Proxy d) All of above
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5) Data items needed for operation are preloaded into the mobile unit is called
____________ in disconnected operation.

a) Data Hoarding State

b) Disconnected State

c) Reintegration State
d) None of above

6) The uplink frequency range specified for GSM is ____________ MHz (basic
900 MHz band only). The downlink frequency band __________ MHz (basic
900 MHz band only).
a) 890-915 and 933-960

b) 933-960 and 890-915

c) 910-915 and 810-815

d) 810-815 and 910-915

7) ___________ service is a text messaging which allow you to send and receive
text messages on your GSM Mobile phone.

a) Videotext access

b) Teletex transmission

c) Short Messaging Service
d) None of above

8) ____________ is the client-side scripting language of WML (Wireless
Markup Language).

a) JavaScript b) VBScript

c) HTMLScript d) WMLScript

9) __________ provides reliable, in-order delivery of packets to applications.

a) UDP b) FTP

c) TCP d) SMTP

10) ____________ is perhaps the first operating system specifically designed for
wireless sensor networks.

a) PalmOS b) TinyOS

c) LiteOS d) None of above

11) The Broadcast Disk paradigm is based on the cyclic broadcast of pages (or
objects) and a corresponding set of client cache management techniques.

a) True b) False
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12) Aglets is a Java based mobile agent platform and library for building mobile
agents based applications.

a) True b) False

13) GPRS stands for ____________

14) LMSI stands for ____________

2. a) Write the applications of Mobile Computing. 7

b) Describe Basic cellular network structure. 7

3. a) Write sequence of events for Call from Mobile Phone to PSTN. 7

b) Explain the Destination-Sequenced Distance-Vector Routing. 7

4. a) Explain Push algorithm in Data Broadcasting. 7

b) What is Bluetooth ? 7

5. Write the Wireless Sensor Network Applications. 14

6. Compare indirect TCP, snooping TCP, Mobile TCP and Transaction TCP with
various factors with example. 14

7. Explain GSM Architecture with block diagram. 14

_____________________
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M.C.A. – III (Semester – V) (Commerce) (New) Examination, 2016
ARTIFICIAL INTELLIGENCE AND ITS APPLICATIONS

Day and Date : Monday, 25-4-2016 Max. Marks : 70

Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. 1  and Q. 7 are compulsory.

2) Attempt any 2 from Q. 2, Q. 3 and Q. 4.

3) Solve any 1 Q. from Q. 5 and Q. 6.

1. A) State whether statement is True of False. 4

1) Knowledge Base consists of Facts and rules.

2) Perception includes Expert System only.

3) Logical reasoning is the process of drawing conclusion from premises

using Rule of Inference.

4) All declarative knowledge are explicit knowledge.

B) Define the terms : 10

1) Artificial Intelligence.

2) Reasoning.

3) Learning.

4) Proposition.

5) Monotonic Logic.

2. Attempt the following : (7×2=14)

A) Explain the Depth first search and Breadth first search algorithm.

B) What is Knowledge ? Discuss the different types of knowledge.

Seat
No.
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3. Attempt the following : (7×2=14)

A) What is Logical Reasoning ? Explain different types of logical reasoning.

B) Explain the different PROLOG Terminology.

4. Attempt the following : (7×2=14)

A) Distinguish betwen declarative verses procedural knowledge.

B) What is natural language processing ?

5. Attempt the following : (7×2=14)

A) What is proposition and predicate logic explain with example ?

B) What is Expert System ?

6. Consider the following sentences : 14

1) Smith was a Man

2) Smith was a Pompeian

3) Smith was born in 40.

4) All men are mortal

5) Smith Is father of peter.

6) Smith does not like Marcus

7) everyone is loyal to someone.

Translate these sentences into formulas in predicate logic.

7. What is AI ? Discuss the category and component of AI along with its Application

Areas. 14
__________________
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Seat
No.

M.C.A. (Part – III) (Semester – V) (Commerce) (New) Examination, 2016
EMERGING TRENDS IN INFORMATION TECHNOLOGY

Day and Date : Friday, 29-4-2016 Max. Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions :1) Q. No. 1 and 7 are compulsory.
2) Attempt two from Q. 2 to Q. 4.
3) Attempt any one from Q. 5 to Q. 6.
4) All question carry equal marks.

1. A) Multiple choice question : (7×1)

1) A 4-input neuron has weights 1, 2, 3 and 4. The transfer function is linear
with the constant of proportionality being equal to 2. The inputs are 4, 10, 5
and 20 respectively. The output will be

A) 238 B) 76 C) 119 D) 56

2) A perceptron is

A) a single layer feed-forward neural network with pre-processing

B) an auto-associative neural network

C) a double layer auto-associative neural network

D) a neural network that contains feedback

3) Considering a graphical representation of the ‘tallness’ of people using its
appropriate member function, which of the following combinations are true ?

i) TALL is usually the fuzzy subset.

ii) HEIGHT is usually the fuzzy set.

iii) PEOPLE are usually the universe of discourse.

A) i) B) i) and iii) C) i) and ii) D) ii) and iii)

4) What is the Fuzzy Approximation Theorem (FAT) ?

A) A fuzzy system can model any continuous system

B) The conversion of fuzzy logic to probability

C) A continuous system can model a fuzzy system

D) Fuzzy patches covering a series a fuzzy rule
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5) What are the following sequence of steps taken in designing a fuzzy logic
machine ?

A) Fuzzy Sets –> Defuzzification –> Rule evaluation

B) Rule evaluation –> Fuzzification –> Defuzzification

C) Fuzzification –> Rule evaluation –> Defuzzification

D) Defuzzification –> Rule evaluation –> Fuzzification

6) Fuzzy logic is usually represented as

A) IF-THEN-ELSE rules

B) IF-THEN rules

C) Both A) and B)

D) None

7) Which of the following is a type of biometric ?

A) Fingerprint B) Voice

C) Both A) and B) D) None

B) State true – false : (7×1)

1) Fuzzy membership be true and false at the same time.

2) Union : ( ))x(),x(min)x(U)x( BABA μμ=μμ .

3) The human retina is a thin tissue composed of neural cells that is
located in the posterior portion of the eye.

4) Computer system and Embedded System both are same.

5) Neural networks learn by example.

6) In the Embedded System, RTOS stands for Real Time Open System.

7) Time sharing system is always a multiprogramming system.

2. Attempt the following : 14

1) Explain the learning Strategy.

2) What are Fuzzy set ? Explain operation of Fuzzy set with example.

3. Attempt the following : 14

1) With a neat block diagram, explain the Fuzzy based expert system.

2) What is embedded system ? Explain components of embedded system.
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4. Attempt the following : 14

1) Explain RFID in detail.

2) Explain different defuzzification methods.

5. Attempt the following : 14

1) Consider two Fuzzy subsets of the set X, X = {a, b, c, d, e} referred to as A
and B. A = {1/a, 0.3/b, 0.2/c, 0.8/d, 0/e} and B = {0.6/a, 0.9/b, 0.1/c, 0.3/d, 0.2/e}.

Then, calculate the following :

i) Support, Core, Cardinality and Complement for A and B independently.

ii) the new set C, if C = A2

iii) the new set D, if D = 0.5 X B

iv) the new set E, for an alpha cut at A0.5.

6. Attempt the following : 14

1) Define Membership function. Explain types of Membership Function.

2) Explain the McCulloch-Pitts model.

7. What is artificial neural network ? Differentiate between biological neuron and
artificial neuron. 14

_____________
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M.C.A. (Commerce) (Part – III) (Semester – V) (New) Examination, 2016
ADVANCED INTERNET TECHNOLOGY

Day and Date : Monday, 2-5-2016 Total Marks : 70
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q.No. 1 and 7 are compulsory.
2) Solve any two questions from Q.No. 2, 3 and 4.
3) Solve any one question from Q. No. 5 and 6.

1. Define the following terms. (2×7=14)

1) CSS

2) GET and POST method

3) Constructors in PHP

4) PHP Extension and Application Repository (PEAR)

5) Content Management System.

6) Canvas

7) Web Services.

2. A) Explain working of Ajax with example. 7

B) Explain the difference between Cookies and Session. 7

3. A) Explain box model in CSS3 in detail. 7

B) Explain different selectors in jquery with example. 7

4. A) Explain Perl Compatible Regular Expressions. 7

B) Explain working of Ajax with jquery with example. 7

5. A) What are different events in Ajax, explain with example. 7

B) Explain arrays in PHP. 7

P.T.O.

Seat
No.



SLR-K – 43 ��������

6. Develop the PHP application that allows students to enter his roll number and
based on that roll no., marks of  that subject of those particular students should
be displayed. Use database connection for storing the details of student like
name, roll number, marks of three subjects. Display the mark sheet with total of
subject marks and percentage. Design HTML page with proper tags. 14

7. Write a note on following :

A) Ajax 7

B) HTML5 Multimedia. 7

_______________
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Seat
No.

M.C.A. (Commerce) Direct Second Year Students (Bridge Course)
Examination, 2016

DISCRETE MATHEMATICAL STRUCTURES (Paper – I)

Day and Date : Monday, 9-5-2016 Total Marks : 100
Time :10.30 a.m.to 1.30 p.m.

Instructions : 1) Q. No. 1 and 7 are compulsory.
2) Solve any two questions from Q. No. 2, 3 and 4.
3) Solve any one question from Q. No. 5 and 6.
4) Figure to the right indicates marks to a question or

sub-question.

1. A) Multiple Choice question : (2×7)

1) The negation of P →  Q is __________________
a) P and ~ Q b) P →  ~Q c) ~Q →  ~R d) ~P V ~Q

2) Let nP5 : nP3 = 2 : 1 then n
a) 1 b) 17 c) 5 d) 20

3) A onto function is also known as
a) Injective b) Surjective
c) Bijective d) None of the above

4) A formula consisting of disjunction of ___________ is called PDNF.
a) Variables b) Maxterms c) Minterms d) Negations

5) Out of 13 players, 11 players are to be selected for a cricket team. In how
many ways can this be done ?
a) 72 b) 65 c) 78 d) 100

6) Given f(x) = 2x2 – 3x + 6, find f(2.5).
a) 11 b) 23.5 c) 76 d) 53

7) The Proposition (p V ~p) is ___________
a) 1 b) F c) T d) P

B) State True/False : (1×6)

1) In every cyclic group, every element is a generator.

2) If A is a 2 × 3 matrix and B is a 3 × 2 matrix, then the product AB is defined.
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3) A vertex with zero outdegree is called Sink vertex.

4) A directed graph with no cycles has at least one source and one sink.

5) {(2, 3), (3, 4), (5, 1), (6, 2), (7, 3)}, this relation is function.

6) If A and B are 2 × 2 matrices such that AB = 0, then BA = 0.

2. Attempt the following : (10×2)

a) Show that P →  (Q ^ R) and (P →  Q) ^ (P →  R) are equivalent.

b) Using truth table finds PCNF of )))rq(~q(p(~p( →∨→∨ .

3. Attempt the following : (10×2)

a) Let A = {1, 2, 3} and B = {a, b, c, d}. Let R and S be the relation from A to B
with Boolean Matrices :

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
=

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
=

0110

1001

0010

M

1001

1010

0101

M SR

1) Find the Boolean matrices for R–1 and S–1.

2) Find the Boolean matrices 1R)SR( −∩ � and 11 RSRR −− ∩ �� .

b) Define :

1) Equivalence relation

2) Group

3) Properties of relation.

4. Attempt the following : (10×2)

a) Define Group and show that {1, 5, 7, 11} is a group under multiplication
modulo 12.

b) There are 6 bowlers and 9 batsmen in a cricket club. In how many ways can
a team of 11 be selected so that the team contains.

a) At least 4 bowlers

b) Two particulars always included

c) At most 5 batsman’s.
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5. Attempt the following : (10×2)

a) Let A = (1, 2, 4, 6, 8) and for a, b ∈A, define ba ≤  if and only if b/a is an
integer.

i) Prove that ≤  defines partial order on A.

ii) Draw the Hasse diagram for ≤
iii) List the Minimal and Maximal element

iv) Is (A, ≤ ) totally ordered ? Explain.

b) Determine adjacency and incidence matrices of the following graph :

6. Attempt the following : (10×2)

a) i) Let G be a graph with ‘P’ vertices out of which ‘r’ vertices have degree ‘k’
and others have degree k + 1, prove that

r = (k + 1) P – 2e

ii) Define and draw Rooted Tree and Binary Tree.

b) Write note on quantifiers and prove that :

 ~((x) A (x)) ≡  (∃x) ~ A(x).

7. Attempt the following : (10×2)

a) Prove that number of permutations of ‘n’ different things taken ‘r’ at a time is
given by :

nPr = n!/(n – r)!

b) If f : R →  R and g : R →  R defined by f(x) = x3 – 4x g(x) = 1/(x2 + 1) h(x) = x4

find the following composition function :

1) (fogoh) (x) 2) (goh) (x)

3) (gog) (x) 4) (hogof) (x).

_____________________
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M.C.A. (Commerce) Direct Second Year Students  (Bridge Course)
Examination, 2016

OPERATING SYSTEM (Paper – II)

Day and Date : Tuesday, 10-5-2016 Max. Marks : 100
Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Q. No. 1 and 7 are compulsory.
2) Solve any two questions from Q. No. 2, 3 and 4.
3) Solve any one question from Q. No. 5 and 6.
4) Figure to the right indicates marks to a question or

sub -question.

1. Multiple choice questions : (10×2)

1) Operating system is the example of _________ software.

a) application b) system

c) firm d) all of above

2) Which of the following memory allocation scheme suffers from external
fragmentation ?

a) Segmentation b) Pure demand paging

c) Swapping d) Paging

3) A major problem with priority scheduling is

a) Definite blocking b) Starvation

c) Low priority d) None

4) _______ scheduling is example of the preemptive algorithm.

a) Round robin b) Shortest job first

c) Shortest remaining d) Longest time first

5) Information  about a process is maintained in a

a) Stack b) Translation Lookaside Buffer

c) Process Control Block d) Program Control Block
P.T.O.

Seat
No.
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6) Belady problem occur in

a) FIFO b) SJF

c) RR d) None of the above

7) Increase the priority of process is called as

a) Aging b) Deadlock

c) Synchronization d) Priority

8) _________ means infinite waiting state of process.

a) Translation look aside buffer b) Deadlock

c) Segmented d) All the above

9) ________ allocates the minimum wastage hole (free fragment) available in
the memory.

a) Best Fit b) Worst Fit

c) First Fit d) None of the above

10) Size of page frame is ________ in paging method.

a) Variable b) Unsafe

c) Fixed d) Varies

2. Attempt the following : 20

1) What is paging ? Explain with example.

2) What is segmentation ? Explain with example.

3. Attempt the following : 20

1) Discuss the different functions of operating system.

2) What is semaphore ? Explain with example.

4. What is Disc Scheduling ? Explain different disc scheduling algorithm in detail. 20

5. What is deadlock ? Explain conditions for deadlock with deadlock avoidance. 20

6. Explain different page replacement algorithms in detail. 20

7. Write short note on : 20

1) File types

2) Process control block. 10

_______________
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M.C.A. – II (Semester – IV) (Commerce) Examination, 2016
ENTERPRISE RESOURCE PLANNING (Old)

Day and Date : Thursday, 12-5-2016 Max. Marks : 70

Time : 10.30 a.m. to 1.30 p.m.

Instructions : 1) Question 1  and 7 are compulsory.
2) Attempt any two Questions from question number 2, 3 and 4.
3) Attempt any one Question from question number  5 and 6.
4) All questions carry equal marks.

1. Choose the correct alternative from the given alternatives : 14

1) ________ is the ability of the package to support the best business practices followed in
the company’s line of business world be a crucial factor in determining the smoothness of
implementation.

A) Technology B) Functionality C) Implementability D) Correctness

2) Most crucial factor in the successful implementation of an ERP system is _____

A) analysis B) gap analysis C) design D) Post maintenance

3) A _______ is a process that takes place prior to the actual performance of a course of
action that has been chosen.

A) Support B) Decision C) Selection D) Solution

4) The _______ applications provide the reports with specific key decisions in the production
function.

A) Operations Updates B) Action Update

C) Decision Analysis D) Information Update

5) ________ function has the primary objective of providing suitable manpower in number
and with certain ability, skills and knowledge, as the business organization demands from
time to time.

A) Financial Management B) Marketing Management

C) Personnel Management D) Costing

6) _________ includes all of the functional and technical characteristics that the company
wants to implement.

A) Resource B) Scope C) Speed D) Accuracy

7) _______ phase will decide when to begin the project, how to do it and when the project is
to-be completed.

A) Project planning B) Screening

C) Package evaluation D) Testing

Seat
No.
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8) The _________ will need a different set of roles and skills than those with less integrated
types of systems.

A) end user training B) testing

C) going live D) post implementation

9) _________ is the key to the power of decision analysis in situations in which the value of
the probabilities is not known precisely.

A) Problem Analysis B) Problem Definition

C) Sensitivity Analysis D) None of these

10) ________ is generally associated with the buying and selling of information, Products and
services via computer network or internet.

A) M- commerce B) E-commerce

C) Internet commerce D) All of  these

11) _______ discovers hidden value in data warehouse.

A) SCM B) PBR C) Data Mining D) OLTP

12) A _______ is a subject oriented, time variant, non-volatile collection of data in support of
management for decision making support.

A) OLAP B) Data Warehouse

C) Data Mining D) DBMS

13) _______ is an interacting computer based system that helps the decision maker in the
use of data and models in the solution of unstructured problems.

A) DSS B) EIS C) Data Mining D) ERP

14) _________ is the step in which the work is almost complete, data conversion is done,
databases are up and running.

A) Reengineering B) Going-Live

C) End User Training D) Post Implementation

2. A) Explain the concept of ERP. Also explain need and advantages of ERP. 7
B) Define and explain management Information System with suitable example. 7

3. A) Explain importance of ERP to the success or failure of any business
organization. 7

B) What do you mean by pre-evaluation screening and what are the activities
done in this phase ? 7

4. Explain in brief Human Resource and Sales Distribution Module of ERP. 14

5. A) How does data warehousing improve the efficiency of ERP system ? 7
B) Explain Gap Analysis. 7

6. Explain the process of OLAP with suitable example. 14

7. Write short notes on : 14
A) Supply Chain Management.
B) Data Mining.

__________________


	SLR K 1.pdf
	SLR K 2.pdf
	SLR K 3.pdf
	SLR K 5.pdf
	SLR K 6.pdf
	SLR K 7.pdf
	SLR K 8.pdf
	SLR K 9.pdf
	SLR K 10.pdf
	SLR K 16.pdf
	SLR K 17.pdf
	SLR K 19.pdf
	SLR K 20.pdf
	SLR K 21.pdf
	SLR K 22.pdf
	SLR K 23.pdf
	SLR K 24.pdf
	SLR K 25.pdf
	SLR K 26.pdf
	SLR K 27.pdf
	SLR K 28.pdf
	SLR K 29.pdf
	SLR K 30.pdf
	SLR K 31.pdf
	SLR K 32.pdf
	SLR K 33.pdf
	SLR K 34.pdf
	SLR K 35.pdf
	SLR K 36.pdf
	SLR K 37.pdf
	SLR K 38.pdf
	SLR K 40.pdf
	SLR K 41.pdf
	SLR K 42.pdf
	SLR K 43.pdf
	SLR K 44.pdf
	SLR K 45.pdf
	SLR K 46.pdf
	SLR K 47.pdf



